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rom Crypto.Util.number import

lag = open('flag.txt').read()

p, q = getPrime(nbit), getPrime(nbit)
PP = int(str(p) + str(p) + str(q) + str(q))
QQ = int(str(q) + str(q) + str(p) + str(p))
if isPrime(PP) and isPrime(QQ):

break

n = PP *QQ

m = bytes_to_long(flag.encode())
c = pow(m, 65537, n)

print('n =', n)

print('c =', c)
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ile True:
p = getPrime(64)

q = getPrime(64)

temp = p*q
print(len(str(p)),end=""
print(len(str(q)),end=""
print(len(str(temp)))
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if len(factor(pq)) == 2 and factor(pq)[0][0].nbits() == 64:

BE A 2 FEiHHARI PP .QQ BT IER KIRSARKE

EES:)

n = 1772691257565086525462423260651384029715427511124233260338808628688221642344522807381702455897984740330474609
20552550018968571267978283756742722231922451193
high = str(n)[:19]
low = str(n)[-18:]
oriin range(10):
for j in range(10):
pq = int(high + str(i) + str(j) + low)
f = factor(pq)
if len(f) == 2 and f[0][0].nbits() == 64:
[0][0]
q = f[1][0]
print(p,q)
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rom Crypto.Util.number import

import gmpy2

p,q = 9788542938580474429,18109858317913867117

c = 4771802260132454339907839595709508375320163133280894940692709158904483755646930080772848403558144796095460354
0348152501053100067139486887367207461593404096
e = 65537

PP = int(str(p) + str(p) + str(q) + str(q))

QQ = int(str(q) + str(q) + str(p) + str(p))

ai_n = (PP-1)%(QQ-1)

d = gmpy2.invert(e,fai_n)

m = pow(c,d,PP*QQ)

print(long_to_bytes(m))
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